> A
A & 0l & AF 2 E A A
20228 & =0l & LEHSI A MGt Z AN A
AN dot=SAFE A
M BAIZALE 22
ool BEIFAML AL EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AotrS ALE A 32,830,510 31,042,883 1,787,627
= 12,289,800
s 690,000
= 1,847,000
Al 11,003,710
T 7,000,000
BEII =AY 22l 26,011,200 26,117,573 A 106,373
= 12,289,800
< 1,044,000
Al 5,677,400
T 7,000,000
BAI=ANLE HE 24,197,000 24,669,000 A 472,000
= 12,289,800
< 1,044,000
Al 3,863,200
T 7,000,000
AME ZI3ot+XelAld SEAY 8,635,000 10,434,000 A 1,799,000
= 2,535,000
= 600,000
T 5,500,000
401 AIEBIZ 28I 8,635,000 10,434,000 A 1,799,000
= 2,535,000
< 600,000
T 5,500,000
01 A& Bl 7,978,000 10,407,914 A2,429,914
OAME B36t=XelAld SEAZ
7,978,000, 000& 7,978,000
= 2,342,123
< 554,349
T 5,081,528
02 Zeltl 637,000 0 637,000
OMAE B3ot=HelAlE SEAH
637,000,000 637,000
= 187,006
< 44,262
T 405,732
03 Al 2 THHI 20,000 26,086 26,086
OMEAE B3ot=HelAlE SEAH
20,000,000 20,000
= 5,871
< 1,389
T 12,740
AFZXF(2EH) ot=2t2 FHIAY 4,781,000 3,500,000 1,281,000
= 3,281,000
T 1,500,000
401 Al HI X 201 4,781,000 3,500,000 1,281,000
= 3,281,000
T 1,500,000




SN AT AIY A
M BAIZALE 22
ool BEIFAML AL EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 4,371,000 3,140,550 1,230,450
OMHLXF(2&tH) dt=2=2 HHI
4,371,000,000& 4,371,000
= 3,000,163
TH 1,370,837
02 Zeltl 400,000 350,000 50,000
O&MFEZXIR(2EHH) dt=2= HHI
400,000,000& 400,000
= 273,987
H 126,013
03 AIE S THHI 10,000 9,450 550
ORI R(2HH) dt=2= HHI
10,000, 000& 10,000
= 6,850
T 3,150
AE X2 (3SHH ) ot=22 FHIAY 4,790,000 1,400,000 3,390,000
= 3,281,000
Al 1,509,000
401 AIEHIZ 2 0H L] 4,790,000 1,400,000 3,390,000
= 3,281,000
Al 1,509,000
01 A& HI 4,380,000 1,254,960 3,125,040
OMEBRF(3EH) St=2t2 FHI
4,380,000,000& 4,380,000
= 3,000,163
Al 1,379,837
02 2feldl 400,000 140,000 260,000
OAMEBRF(3EH) ot=2t2 FHI
400,000, 000& 400,000
= 273,987
Al 126,013
03 AIE S THHI 10,000 5,040 4,960
OAMBX T (3EH) ot=2t2 FHHl
10,000, 000& 10,000
= 6,850
Al 3,150
22X (2 ) ot=22 FHUIAY 714,000 0 714,000
= 500,000
Al 214,000
401 AIEHIZ 2 OH Ll 714,000 0 714,000
2 500,000
Al 214,000
01 A& HI 710,000 0 710,000
O=2X F(2&HH) ot=2t2 FHl
710,000,000& 710,000
= 497,199
Al 212,801
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N2T75,

000

01 A€ HI

O©z=0ts ot+=x &X

993,700,000&
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2N Aol AIE A
MM SHI AL 22
ool BAINEAL AM CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 150,000
01 Al&H| 993,700 1,266,967 N273,267
odyg - N0 ot=% &X 993,700,000& 993,700
= 695,590
o= 149,055
Al 149,055
03 Al& 20| 6,300 8,033 N 1,733
oOdH - NE0tS ol &X 6,300,000& 6,300
2 4,410
& 945
Al 945
MEXT OIS0l EXALY 350,000 500,000 A 150,000
= 250,000
&< 50,000
Al 50,000
401 AlEHIZL £ 0HY| 350,000 500,000 A 150,000
= 250,000
& 50,000
Al 50,000
01 Al&H| 347,500 496,400 A 148,900
OMAEX P OtSot+== &Kl 347,500,000& 347,500
= 248,214
= 49,643
Al 49,643
03 Al 201 Y| 2,500 3,600 A 1,100
OMAEX PR OISotx== AXl 2,500,000& 2,500
= 1,786
& 357
Al 357
SFECAEHI DI 2HE (HY) £8 249 1,000,000 200,000 800,000
401 AlEHI 2L £ 0HY| 1,000,000 200,000 800,000
01 Al&H| 993,700 198, 560 795,140
OAIEAl St &-HIJI2HE (HA) &8 2A
993,700,000& 993,700
03 AlE 201 Y| 6,300 1,440 4,860
OAI™Al St ™HIJI2HE(HAE) =8 284
6,300,000& 6,300
NS X &AS 327,000 265,000 62,000
= 130,800
Al 196,200
401 AlEHIZL 2 0HY| 327,000 265,000 62,000
= 130,800
Al 196,200
01 Al&H| 327,000 265,000 62,000
OMNHEZTHEZA £=ZHD L OIHEHMOE D
Al 192,000,000 192,000




A dot=Z A A
M BAIZALE 22
Cell BEIIZAIL AM (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
= 76,800
Al 115,200
OAdE & MEHASR SHABZY =3TEHZ wiH
135,000, 000& 135,000
= 54,000
Al 81,000
AMEA =Zot=22 FHAY 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 Al HI YL 201 Y| 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 A& HI 993,700 0 993,700
OMEBA ==ot+=2t2 HHAY
993,700,000 993,700
= 496,850
Al 496,850
03 Al 2 THHI 6,300 0 6,300
OMHBA =322 FHAY  6,300,000& 6,300
= 3,150
Al 3,150
I ANE 29 1,163,200 974,573 188,627
T HMeAE S22 102,000 80,000 22,000
401 Al HIZ 2018 102,000 80,000 22,000
01 A& HI 102,000 80,000 22,000
OMEEZELIMIANE ALEEN & HdSAH
B WX 70,000,000& 70,000
OMFEZELMIHLIANE J&sdCEY
18,000, 000& 18,000
OUFEZEZELIHMUAE AdFHI=dHEA
14,000, 000& 14,000
II=E=33AE 29 352,000 248,000 104,000
201 LB-2dH| 132,000 168,000 A 36,000
02 =224l 132,000 168,000 A 36,000
OINEE=I33ANE HIIRS 132,000,000 132,000
401 A& HIZ 201 8] 220,000 80,000 140,000
01 A& HI 220,000 80,000 140,000
ON=EEL t=HelAd AAH M A
100,000, 000& 100,000
ONEZ=XMelAE =HH&E WX
60,000,000& 60,000
ONEZBXMelAE AdAREFIIAIL KA
60,000,000& 60,000
oMl AL (ME ARSI IIR) 709,200 646,573 62,627




2N Aol AIE A
MM SHI AL 22
Sl BEIZANL 29 EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 709,200 646,573 62,627
112 2SUHUSHEAEAE A Y| 709,200 646,573 62,627
oMl HE(AMA AT JIE2R)
709,200,000& 709,200
EHI| = AE 22 651,000 474,000 177,000
0fssta=& AH| 270,000 150,000 120,000
401 A& HI L 2 0HHI 270,000 150,000 120,000
01 A& HI 270,000 150,000 120,000
Oot=k 224 100,000,000 100,000
Ootx=t 2124 100,000,000 100,000
OsfE=ES 20l ot 42Z U ZA
20,000,000 20,000
OAotE HEDNISY 42F HUIZ2AH
20,000,000 20,000
OsN3s 28 HAU X9 22 &bl
A 30,000,000 30,000
AA2E2I36tE Xl AlE 22 381,000 324,000 57,000
201 2Et2Ay| 110,000 120,000 A 10,000
02 B232%H| 110,000 120,000 A 10,000
OARBEZ2Z206t=H2AE MRS
110,000,000 110,000
401 AlEHIZL 2 0HY| 271,000 165,000 106,000
01 Al&EH| 271,000 165,000 106,000
OE=2,0I2ARI2Z220x=H2AIE &80
A X 80,000,000 80,000
Oss, REALAAREZBGIE=XEAIE 2|2 W
Hl 60,000,000 60,000
OFE A2ARRZ2Z20IEHEAE &80 DD
A X 80,000,000 80,000
OMNLEEARDE2Z20ERXHEAIE JsrHESA
11,000,000 11,000
OATFRZ220tHelAlE o222 AU AIY
40,000,000 40,000
MRe 82 = 3,869,310 2,225,310 1,644,000
Fag 690,000
&< 803,000
Al 2,376,310
= 2 =82 275,310 275,310 0
&< 80,000
Al 195,310
OIS AT Al&E 22 146,000 146,000 0
201 £Bt24d| 28,000 28,000 0
01 AP 22| H| 16,000 16,000 0




Aol S AP A
MHRe 2 =2
S 2 2332
S BB (BH) - NRAY - BES il
OlISas+: =EAHA =2 16,000,000& 16,000
02 332494l 12,000 12,000
Ox=9 X&) RAEH 4,500,000 4,500
OxZS2HEZAE RAESE 4,500,000& 4,500
oOgAEAI Wi 3,000,000 3,000
206 M = Hl 18,000 18,000
01 & bl 18,000 18,000
olIsds+r ASAE 2 6,000,000& 6,000
ontsasz A5)| EH 7 9,000,000 9,000
Ol AIdE =8dTE 7Y 3,000,000& 3,000
401 Al HI YL 2 0HHI 100,000 100,000
01 A& HI 100,000 100,000
OAAHE =T AL 21282 50,000,000 50,000
OEZHIX AR2 =ZAId EH
50,000,000 50,000
ARBSEE LS3 AlY NSAL KR (HSALY) 114,000 114,000
& 80,000
Al 34,000
401 AIEHIL 20| 114,000 114,000
& 80,000
Al 34,000
01 Al&Z Bl 114,000 114,000
OATRRPET CSSAIE HAIS(HE)
114,000, 000& 114,000
= 80,000
Al 34,000
= 2 =222 4,310 4,310
201 et A | 2,310 2,310
01 AFR2t2l Yl 2,310 2,310
Ol &EIA =2 810,000& 810
OYeEgE 222 858 5 #¢ 1,000,000& 1,000
oclEx M 500,000& 500
206 T 2 8| 2,000 2,000
01 M= bl 2,000 2,000
Ox+ZAAMNE WY el 1,000,000& 1,000
ONBHASEH AYFL 1,000,000& 1,000
He=s 2SAMAE =2H 11,000 11,000
201 et A | 1,000 1,000
02 332 H| 1,000 1,000
O%+H AMESANNES 1,000,000& 1,000
401 A HI L 2Ol 10,000 10,000




2N Aol AIE A
M HRE 2 B2
ool o 2 SR (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 10,000 10,000 0
OH=SE ZSAE(24H) HEAS
10,000,000& 10,000
KoL Al E 22| (LEHS H) 3,594,000 1,950,000 1,644,000
= 690,000
== 723,000
Al 2,181,000
EXNXNP sHEMESS HLAS(HESAY) 850,000 300,000 550,000
== 723,000
Al 127,000
401 AlEHIZL 201 Y| 850,000 300,000 550,000
& 723,000
Al 127,000
01 Al&H| 848,555 298,920 549,635
OE2XXNT SHEMEES HLAY(HE
848,555,000& 848,555
= 721,771
Al 126,784
03 Al&E 201 Y| 1,445 1,080 365
OE2XXNT SHEMEES WAL (HEH
1,445,000 1,445
&< 1,229
Al 216
MNEXS HAAAH2Z &I S A 986,000 1,100,000 A 114,000
= 690,000
Al 296,000
401 A& HI L 204 HI 986,000 1,100,000 A 114,000
g 690,000
Al 296,000
01 Al&H| 984,324 1,096, 040 A111,716
OMEXN T KNEM4+E HAZS2Y 2SALY
984,324,000 984,324
= 688,827
Al 295,497
03 Al&E 201 Y| 1,676 3,960 N2,284
OMEXN T KNELMaLT HAZZ2U 2EALY
1,676,000 1,676
Fag 1,173
Al 503
MNE22d SeStti=X HAEAS 1,700,000 500,000 1,200,000
401 AlEHIZL 201 Y| 1,700,000 500,000 1,200,000
01 Al&H| 1,700,000 500,000 1,200,000
OMBEE2L SEHiX HEAY
1,700,000,000& 1,700,000
AUt LAAE X L SX 22 58,000 50,000 8,000




A dot=Z A A
M HRE 2 ==
Chelr XYa-CAS22 (LErSH) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
401 Al& Bl & 28I 58,000 50,000 8,000
01 A& HI 58,000 50,000 8,000
OAxZESALE X & KX 2el
50,000,000& 50,000
OZ220t2 A3Hd XA (FOUE0 0 A)
8,000,000& 8,000
MRES (Mot AFEA) 2,950,000 2,700,000 250,000
HEHHKE 2,950,000 2,700,000 250,000
ST EEHIN HES 1,950,000 1,700,000 250,000
701 JIEISI HSHES 1,950,000 1,700,000 250,000
03 BIILELEIIAHMNEBNES 1,950,000 1,700,000 250,000
O EZE3H AN2HEE=2 1,950,000,000& 1,950,000
oS8 dE= 1,000,000 1,000,000 0
701 JIEtSIHENMES 1,000,000 1,000,000 0
03 BIILELEIIHN=2HES 1,000,000 1,000,000 0
Oot=EEE3H A=&E= 1,000,000,000& 1,000,000




